HEEBHLEN HOLHS

E_SE—HN (B +=REMERR)
EABEMEETHFTES
(B) PHSE4AIE  (F) SH643H31H
(B47 : M)
BENE WERTRE(A) HIERERE(B) 5 (A)-(B)
MERIRBEIN 623, 458, 423 639, 127, 382 —15, 668, 959
N BB RING 0 0 0
BRI BRI 0 0 0
EEBRINE 0 0 0
sy e 0 0 0
IR [e=mu - 2SN 0 0 0
| EERE s 0 0 0
EEBRING 0 0 0
y| |eothoBERE (1) 0 0 0
| REERESH RN 0 0 0
ol [Eofthols 0 0 0
P EEREST (1) 623, 458, 423 639, 127, 382 15, 668, 959
SN 434,791, 506 443, 203, 405 =8, 411, 899
A |Exm 115, 578, 705 118, 840, 377 -3, 261,672
B |S=m 34, 837,799 35, 966, 438 -1,128, 639
| |piEsxER 0 0 0
w|  |[EESzER 0 0 0
o| |[EotoBA (1) 0 0 0
an| g |FIFIE RIBERAR 0 0 0
g [ARA N ER 45, 369, 630 48,818,579 -3, 448, 949
EE RSB RIE T S EE%E -13,728,723 -13,812, 859 84,136
EYEHELREE 0 0 0
EHEEFSIN 0 0 0
WU EERA 0 0 0
BUNTRAES | LS HRA 0 0 0
ZOAOE 0 0 0
H-EXEBERA (2) 616, 848,917 633, 015, 940 —16, 167, 023
H-PEBIEHEE (3) = (1) — (2) 6, 609, 506 6, 111, 442 493, 064
EASFEMARINEE 0 0 0
S S E Y D UNE 2,546 2, 541 5
AAEANBEHEE SIS E (4 R EF BN 0 0 0
Bl Tl 0 0 0
g | EmEE 255502 0 0 0
Y| |1 EaE s b 0 0 0
| BTSNz 0 0 0
el (BT 0 0 0
2| |ErEEm 0 0 0
x| [Rofioy—tRESMNG 11,621,373 8,376, 933 3, 244, 440
gy || D —EXEBISMRESET (4) 11, 623, 919 8,379, 474 3, 244, 445
MR 520, 150 634, 690 114, 540
| [HEEILESEERBEA RTINS 0 0 0
ol B Gl 2 i 0 0 0
B | siE 0 0 0
0| & |3aEa s sTs 0 0 0
28| |1 E e soaa 0 0 0
ERATESTATIE 0 0 0
T EEE 0 0 0
ZOMthOY - ZEENNE R 5,748, 331 5,634, 646 113, 685
H-EXESHMERA (5) 6, 268, 481 6. 269, 336 —855
P ESIMNERERE (6) = (4) — (5) 5, 355, 438 2,110, 138 3, 245, 300
EEEEEE (7) = (3) + (6) 11, 964, 944 3,221,580 3,743, 364
MERE RS MU 0 12,172, 000 =12, 172, 000
SRR RS S M RN 0 0 0
Iy | B ASEA S TR RS SIS 0 0 0
< |EEEEREE 0 0 0
EEEEE 0 0 0
B | zomotsRRs 0 0 0
Bl [msBnmzsst (8) 0 12,172, 000 =12, 172, 000
Bl |ExseErzE 0 0 0
w| | BEimE 0 0 0
0| |BEEaEsE-0sia 1 3 -2
o | B | EEHE 2SS B (RH%) 0 0 0
B | B eSS R ST 0 12,172, 000 -12,172, 000
PUES=ES 0 0 0

1/2




HEEBHLEN HOLHS

FaOULEHEEES 0 0 0
SRIEREt (9) 1 12,172,003 -12,172,002
YSFRISRAERE (10) = (8) — (9) -1 -3 2
B g AR EENS AR (11) = (7) + (10) 11,964, 943 8,221,571 3, 743, 366
EARL ERBRUEER (12) 0 0 0
EAFEREERE (1.3) 0 0 0
WHBEENIERAELE (14) = (11) — (12) — (13) 11,964, 943 8,221,577 3,743, 366
BRI EENER=EE (15) 884, 476, 211 876, 254, 634 8,221,577
LHAKARIESNMERALRE (16) = (14) + (15) 896, 441, 154 884, 476, 211 11, 964, 943
EATERAREE (17) 0 0 0
ZOMhIE I EERARRE (1 8) 0 0 0
2B EIEEE (19) 0 0 0
IREBIEMCEENIERASE (20) = (16) + (17) + (18) — (19) 896, 441, 154 884,476, 211 11, 964, 943

2/2



